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(Definitions of Goodwill)
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(Relevant Provisions of the Accounting Standards on Goodwill)
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vz 3 =T T S A W1 Sivs 2 =fwu, (2) A gamentE am
mmm.tsmﬁm%aﬁmmmm,mﬁmm_m@
TR, (5) YARET s & AfE qEl § o @ o 2 @ 3a
T ¥ | W sl ‘

ECEIUE b

= =7 7 frefatad gaet | fred 4 9uf & 3w 98 @9 F 3 71
T 9 TS § JYR W S &1 G 919 HIG0 FFA 6 AYEA 55 THR

L O

TER F9 : WN—394 1,00,000; &g ad . AM—39T 1,40,000:
T3 T AH—F9E 1,30,000; 9gd a4 : TFH—93 10,000

Solution :
Total Profit of Last 4 years =% 1,00,000 + 1,40,000 + 1,30,000 —
lq,OOO (Loss)
=% 3,60,000
Average profit of last 4 years = ____? 3,60,000
=3 90,000
Goodwill =% 90,000 x 3 years =¥ 2,70,000
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(i) =19 = 2010 A X 40,000; 2011 # ¥ 50,000; 2012 ¥ T 60,0001 (i)
2011 % =4 3 a0-A0 7 € 9 T 4,000 F S W 1 (jii) 2010 F W
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Solution : Statement Showing Adjusted Net Profit
2010 2011 2012
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Less © Non-recurring income — 4,000 —
Add : Goods destroved (Abnormal loss) 6.000 — -
Less . Income from Investment — —- 5,000
Adjusted Net Profit 46.000 | 46,000 | 55,000
Average Profit = ¥ 46,000 + 46,000 + 55.000 T
-
* 1,4/,000 = 49,000
3
Less - Expenses to be paid in future :
Insurance Premium 400
Proprictor's Remuneration 6,000 -6.400
Net Average Profit expected in future 42,600

Goodwill = T 42,600 x 2 year's purchase = T §5.200
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Selution

Nimple Super Profit Method ¢ L4
I Calculanon of Average Annual Profit
Profit for the st vear 1,07,600
Profit for the 2nd year 90,700
“ Profit for the 3rd year | 1.12.500 |
3,110,200
Less - Partner’s Remuneration for three ycars | 36,000 ]
4 2,74,800
- -— 4
- | Annual Average Profits (274,800 + 3) 91,600
[ ess - Normal return on Average Capital Employed
= (on ¥ 6.00.000 @ 12%: ( 6,00,000x ]2} 72,000
= - 100
Super Profit T 19.600

As the number of vears is not given inthe question, 3 year’s pur?hase of
the super profit is assumed to be the value of goodwill. Thus,
\alue of Goodwill =¥ 19,600 x 3 Years = 58,800 |
(3) =T =1 GHTEAT fafer (Capitalisations of Profit Method)
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(A) (i) TF wH % sied @ T 40,000 §, (ii) I NI T 10%,
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Solution : ;

) A) (i) Capitalisation of average profit :
A0 ~ Average Profitx 100

~ Normal rate of return
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L 40,000 x 100
=N

* T 4,00,000
10
Goodwill = Capitalised Profits - Capital Employed

=T 4,00,000 -3,20,000 T 80,000
() Capitalisation of super profit :
X 3.20,000 x 10

Nomal profit = — -= 332,000
100
Super Profit =3 40,000 -32.000 = T 8.000
Goodwill = — R'O?‘g L T 81,000
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Solution :

(@) Goodwill = ______? 13,000 =
0282013 <46,097.33
(b) Goodwill =7 21,200 x 3,78 =3 80,136

(c) Calculati :
) ) Calculation of the present valye of annuity of T 1 for three years @,
e
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Present Value = — o5

T 10
100 =
l_(lOT
L1 1-0.7513
— —Z—or = or0.24 .
1/10 1/10 87 x 10 = 2.487

Goodwill =% 22,000 2.487 =¥ 54,714
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